Ratio

1 (a) Two girls, Jane and Shirley, share a sum of money in the ratio of 2:3. If Jane receives $12, how much does Shirley receive?

(b) The ratio of boys to girls in a group is 3:5. There are 15 girls in the group. If 2 boys and 3 girls leave, what is the ratio of boys to girls now?

(c) A supermarket sells two brands of orange juice, Brand A and Brand B, in the ratio 5:2. If it sells 840 cartons of Brand A in a week, how many cartons altogether will it sell in the week?
2 (a) Two partners, Dom and Sid, invest $24 000 and $16 000 in a business. Their profit in the first year was $60 000. How much does Dom receive?

(b) A bequest of $180 000 is divided between 3 charities in the ratio 3:4:5. How much does each charity receive?

3 (a) Over a 5 year period, the population of a town increases from 8200 to 10 100. Find the average rate of population increase per annum.

(b) Irene covered 78km in 1 h 30 mm. What was her average speed in km/h?

4. Coal is removed from a mine at the rate of 90 tonnes per hour. In kilograms per second, this rate is: (A) 2.5 (B) 25 (C) 1500 (D) 150

5. (a) 4580 persons were injected with anti-polio vaccine at the rate of 1/2 cm per person. How many litres of vaccine were used?

(b) The premium rate of a certain insurance is $1.24 per $100 of the value of the article insured. What is the premium payable on goods valued at $30 000?

6. A patient suffering from a certain condition is fed fluid direct into the vein. If she requires 1.2 litres of fluid per day and each mL of fluid contains 18 drops, find at what rate she is being fed in drops per minute.
